
 HANDPROTECTORS FOR 

BMW G310GS / G310R

35 min1 person

 Easy

Intermediate

Difícil-DDDiffifificcuuullt

Nº 3
Nº 5
Nº 6

ALLEN

Nº 14

DESCRIPTIONID PART QTY REF.

Pg. 1/4

Right metal support (R)

Left metal support (L)

M5 ISO 7380 Allen screw cap

Stikers set

M5x1 Nylon washer

M5x11 ISO 7380 Allen screw

Ø8,25x Ø13,2 x10mm customized spacer

Ø4,5xØ11x2mm Rubber washer

M8x55 DIN912 Allen screw

M5 Special nut
(supplied already mounted on items 1-2-3-4)

Right handguard

Left handguard

Ø15.5 right handlebar anchoring part
(supplied mounted with handguard)

Ø15.5 left handlebar anchoring part
(supplied mounted with handguard)

6 TAPON--------85

1 ADHESI------234

6 ARNV00000000245

6

2

 TORNI-AI----520

CASQUI-AL--9881

6 ARAND-EPDM--722

2  TORNI-D912--631

4 TUERC-D6923-255

1

1

SOPOR-2P-3-9881

SOPOR-2P-3-9881

1 9881JM3

1 9881JM3

1 9881JM3

1 9881JM3

13

14

10

9

8

11

7

12

5

6

1

3

2

4

Ref.: 9881

V1.04/21

https://www.motorcycleid.com/puig/


 MOUNTING INSTRUCTIONS 

 HANDPROTECTORS FOR 

BMW G310GS / G310R

2

3

1

4

CAREFULLY REMOVE

Loose one turn

Pg. 2/4

5

2
8

7

1

99 9 Adjust handguard position1

11

RIGHT SIDE DISASSEMBLY RIGHT SIDE ASSEMBLY

RIGHT SIDE ASSEMBLYRIGHT SIDE ASSEMBLY

Original partA

HOLD BAR ENDS TO UNSCREW

V1.04/21



 MOUNTING INSTRUCTIONS 

 HANDPROTECTORS FOR 

BMW G310GS / G310R

6

7

5

8

13 13

13

14

9

10

Tight fasteners
99

9

Pg. 3/4

CAREFULLY REMOVE

RIGHT SIDE ASSEMBLYRIGHT SIDE ASSEMBLY

LEFT SIDE DISASSEMBLY LEFT SIDE ASSEMBLY

HOLD BAR ENDS TO UNSCREW
6

V1.04/21



 MOUNTING INSTRUCTIONS

 HANDPROTECTORS FOR 

BMW G310GS / G310R

10

11

9

12

Pg. 4/4

13 13

13

9

10

Tight fasteners
99

9

8
7

4

3

9Loose one turn9 Adjust handguard position3

14

11

LEFT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY

LEFT SIDE ASSEMBLY

9

Original partA

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

